Math 3 Name ID: 1
© 2019 Kuta Software LL C. A1l rights reser ved.
Unit 6 TEST Review Date Period
Find the measurement indicated in each parallelogram.
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Solve for x. Each figure is a parallelogram.
7) o . 8) . U
-3+ 2x
8
o m
X 7 S R
4 7
9) 10)
’S T ‘Q
0 R S R
1
0 5
© 2019 Kuta So ftw are LLC . All rights reser ved. Made with 1Infinite Geometry.




Be a i i -
ble to identify and use the proprieties of a quadrilaterals, specifically parallelograms:

11.
l;’\ Rtlu accompanying diagram of parallelogram 12. As shown in the diagram below. the diagonals of
CD. mZB = 5x, and mZC = 2x + 12. Find the parallelogram ORST interscct at E. If
number of degrees in 2D, QE=x"+6x, SE=x+14,and TE = 6x - |
5 - determine TE algcbraically.
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U are ¢
In the diagram below of parallelogram ABCD with © ) ¢} In quadrilateral BLUE shown below, BE = UL.
diagonals 4" and BD mZl =45 and '
mZDCB = 120.

Which information would be sufficient to prove
quadrilateral BLUE is a parallelogram?

'hat is the measure of £2? us v £ 1%
W5 Lok  BLIEU
3) 30° (D | BE
o e 3) BE=BL
15.) 16. 4) LU =EU
Parallelogram //AND is drawn below with
diagonals HN and AD intersecting at . Which statement about parallelograms is always
: true?
A 1) The diagonals are congruent. \o"
@ The diagonals bisect each other. U\’"S\
H 3) The diagonals are perpendicular. ™ -

4) The diagonals bisect their respective angles. e,

Quadrilateral MATH has both pairs of opposite

D sides congruent and parallel. Which statement
')

Which statement is always true? about quadnlateraluAuI' :iT\I\IP is ahllw{z})"\s true? %
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3y ZAHS = ZANS
4y ZIHDS = ZNDS



Be able to identify and use the proprieties of a circles in general and standard form. i
18. Graph the following circle:

a. (x-3)+(y+1)=4 b. x-2?+(y-5?%=9 c (y+4)2+(x+2)2—16 :
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19. For each circle: Identify its center and radius.

a(x+3)+(y-1)=4 b.x2+(y-3)*=18 c.(y+82+(x+2)!=T72
Center: A\~ \) i Center: LC_)_‘@ Center: M
Radius: " Radius: i\é o Y., Radius: (‘-—?'—Z s ‘1
20. Write the equation of the following circles:
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21 Find the standard form, center, and radius of the following circles: ? :
x2+y2—4x+8y 5=0 b) X2+ y* + 9y + 5=0 r
7(2 Uy + 1.3 rg‘ﬁ e 5 7(2 L tﬁ +-C{L3 - -5 ;
() (FBg=5 A 0l xP (et amzsye-sesenr
i —_— = b
e = 15,25
Lﬁ—?ﬁ + (lor"‘\z =S * *’( 4-453 ‘ i
Center:__ (2 ,-4) Center: (O, -l—ls\ 4
Radius: >3 Radius: {35.25 or V%‘_ K
22. x—2x+y +8 x* y2—6\+4) 3=0 5‘

X 2% -\-\) L3 +8&:) H(o\ 8*'\ e g 3,,1{ & B‘fi *i’_i'
O (ytu) = L ?>5 + +2)a =16

Center; 1 -4 Center: (3, 2
Radius: 6 , Radius: ‘j
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Find the measure of the arc or central angle indicated. Assume that lines which appear to be

diameters are actual diameters.
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Find the measure of the arc or angle indicated.
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Determine if line AB is tangent to the circle.
27) 28)
4
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B
Tangent

Not tangent

Find the perimeter of each polygon. Assume that lines which appear to be tangent are tangent.
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